1 No kvBoiv o1 sfiodosis:
1)2x+5=3x+14
111) 6x-2 = 9x-5
V)3 4-(x-2)=2+1x
vii) 3(2x+1)-14 =2(3x = 5)
ix) - 3{4-[1-3(5-x) = 2]} = 14 - [5x - 3(x - 2)]

5 No AD0STE TIC L1000
1) 3Ix—6=-3(2—x)
1) 3x—5=3(x—2)

V) T—dx——4(x-2)-1

6. Na hioste Tic sfiodosis
1) 15-9(x+1)=3(2—-3x)
1) 4(x—1)—2(x—2)=3—x—3(1—-x)
V) 3(x—2)—2(1+3x)=—2(x—4)—x-16

7 No iboets Tic L1006
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8 No ivbovv o1 shioosis:
1) 10x-2(4 = 5x) = -8
i) 10x - 2(4 + 5x) = §
v)Bx-[5x+2(x-3)-(3x+4)]=30

9 No dbozste Tic sLio0oss :
1) 3(3+2x)—(1—x) =2(4+3x) +x
1) x—D+5x+1D) =22x+T)+Hx+2)
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10 Na kbosts Tic shiooosis -
D 5- 10x+1 x_13x+4 (x—4)
27 8 18 4
5x—4 Tx-10 22
= 7

111)

u)2x9=x+7

w)4x-2=3-x

vi)4-(Tx+3)=12-2x
viii) 7[(37-2)-3(2y-4)] = 28

x) -2{7-[4-2(1-x) + 3]} = 10-[4x-2(3-x)]

1u)—4x—8=—42+x)
w) 11-5x=5(3—x)
)12+ 4% —6-2(3—2x)

i) 7-2(x—1)=—2(x—2)-5
W) 3(5+2x)—2(3+x)=23-2(1-x)
V) ~{x—6)+Hx—1)=—1+3(x+1)
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i) 9x-3(-5 - 3x)=15
w) 7x - 2[3(1-x)] =- (7-13x)
vi) 6x-{4-3[2x+3(x-1)]} =62

1) 2(x-3)+1=3x-1)-(2+x)
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2 Na hvboiv o1 shotosi:

1) £=2_x_—3
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iii) x—3_x—1=x+2_1
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3 No hvoet: Tic s51600681S -
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v) x+1-3(x—-1)=1-x
4 Na hioste ng stioooss
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